
Installation Instructions



Installation Instructions

KTM 125, 200, 390 DUKE
FRONT SPINDLE BOBBINS

Product Reference - 11623

Kit Contents

1 x RH Bobbin A

1 x LH BobbinB

1 x LH Bobbin SpacerC

1 x M8 - 40 Cap Head BoltD

1 x M8 WasherE

1 x M6 -35 Cap Head BoltF

1 x M6 WasherG



Installation Instructions 1



Installation Instructions 2

BC E D

Caution

MANUFACTURERS TORQUE 
SPECIFICATION

(Nm)



Installation Instructions 3

AGF

Caution

MAX TORQUE SETTING
OF 18Nm



www.evotech-performance.com


